
Last Rev Date:  12/02/2021 Page 1 of 4 Fitting instructions# 3789716 
Copyright © 2005 by ARB Corporation Limited.  All rights reserved, this document must not be reproduced without the express authority of ARB Corporation Ltd 

 

  

 

Part Number: RDTAB1355 & RDTAB1045 

Product 
Description: 

ROLLER DRAWER TABLE SUIT ARB OUTBACK SOLUTIONS DRAWER 

Suited to 
vehicle/s: 

ARB OUTBACK SOLUTIONS ROLLER DRAWER FIXED TOP ONLY 

 

 

NOTE THE FOLLOWING: 

 This product must be installed as per these instructions using only the hardware supplied. 

 In the event of damage to any component, contact your nearest authorised ARB stockist.  

 Do not use this product in any drawer system, other than those specified by ARB. 

 During installation, it is the duty of the installer to check correct operation/clearances of all 
components 

 Unless otherwise instructed, tighten fasteners to specified torque 

GENERAL CARE AND 
MAINTENANCE 

By choosing an ARB stainless steel table you have bought a product that is manufactured from a high 

grade stainless steel, and if looked after correctly will give you many years of service. It is engineered to 
be a reliable high quality accessory that represents excellent value.  To keep your table in original 

condition it is important to care and maintain it following these recommendations: 
 

 It is recommended that following exposure to salt and or other contaminants, the table and mounting 
area be thoroughly rinsed to prevent corrosion. 

 As part of routine care, it is recommended to clean the table with stainless steel wipes.  These wipes 
leave a streak free shine and leaves a protective film that repels new marks. 

 

 

ARB 4x4 ACCESSORIES 

Corporate Head Office 
 

42-44 Garden St   Tel:   +61 (3) 9761 6622 
Kilsyth, Victoria    Fax:  +61 (3) 9761 6807 
AUSTRALIA  3137 
 

 
Australian enquiries    sales@arb.com.au 
North & South American enquiries   sales@arbusa.com 
Other international enquiries   exports@arb.com.au 
 

 

 

mailto:exports@arb.com.au


Last Rev Date:  12/02/2021 Page 2 of 4 Fitting instructions# 3789716 
Copyright © 2005 by ARB Corporation Limited.  All rights reserved, this document must not be reproduced without the express authority of ARB Corporation Ltd 

 

 

 

 

FITTING REQUIREMENTS 

 

REQUIRED TOOLS FOR FITMENT OF PRODUCT: 

4MM HEX KEY WIRE CUTTERS 

10MM SOCKET AND DRIVE NO. 2 PHILLIPS SCREWDRIVER 

 

 

FASTENER       TORQUE SETTINGS: 

SIZE Torque Nm Torque lbft 

M6 9Nm 7lbft 

 

 

PARTS LISTING- RDTAB1355 & RDTAB1045 

APPLICATION. PART NO. QTY DESCRIPTION 

ROLLER DRAWER TABLE 
INSTALLATION 

   

 
5670036 

 
4 SLIDE BLOCK 

 
5670034 1 D HANDLE 

 
5670038 1 SLIDE ASSY LH 

 
5670037 1 SLIDE ASSY RH 

 
6151871 14 SCREW BTN HD M6 X 16  

 
6151162 8 NUT HEX M6 X 1.0 NYLOCK 

 
6151128 6 NUT FLANGE M6 X 1.0 

 
6151269 2 SCREW M4 X 10 

 
6523190 / 
6523191 

1 TABLE TOP 

 
5670048 1 7 x 5MM EPDM EDGE STRIP 

 
3789716 1 FITTING INSTRUCTIONS 

 
 



Last Rev Date:  12/02/2021 Page 3 of 4 Fitting instructions# 3789716 
Copyright © 2005 by ARB Corporation Limited.  All rights reserved, this document must not be reproduced without the express authority of ARB Corporation Ltd 

 

 
 
 

                                                                         

                                                                                                                                                                                                                 

Insert 2 nylock nuts into each slide block.  Ensure 
that the nylon in the nut is facing out as shown. 

 

Remove plastic protective layer from the stainless 
steel components in preparation for the next steps. 

  

 

Position 1 sliding rail on top of the outside wall of 
drawer. 

Insert 2 slide blocks behind the lip on top of the 
drawer and secure to the sliding rail using 2 button 
head screws in each block. 

 

 

 

 

 

The sliding rail should now be secured in place on 
top of the drawer sidewall. 

Repeat the process on the second sliding rail. 

 

Place the table top over the 2 sliding rails. 

The edges of the table top are to be positioned on 
the outside of the sliding rails. 

 

Insert nut with nylon facing out 

Position slide on top of drawer  



Last Rev Date:  12/02/2021 Page 4 of 4 Fitting instructions# 3789716 
Copyright © 2005 by ARB Corporation Limited.  All rights reserved, this document must not be reproduced without the express authority of ARB Corporation Ltd 

 

 

Secure the table top to the sliding rails using 6 x 
button head screws and 6 x M6 flange nuts.  

Insert the screw through the outside of the table 
top and attach the nut from the underside. 

 

Discard the 2 x M4 x 35mm screws packaged 
inside the plastic sleeve containing the D handle. 

 

Attach the D handle to the table using the  

2 x M4 x 10mm screws supplied in the installation 
kit. 

 

Secure the handle from the underside of the table 
using a phillips head screwdriver.  

 

It is possible to adjust the tension on the sliding 
rails by loosening the screws on the slide block 
closest to the table top.  Move the block up or 
down and re-tension the screws to achieve the 
desired tension.  

 

Ensure smooth operation of the table at the 
completion of the installation. 

Attach rubber edge strip to front edge of table.  
Trim to suit. 

 

Adjust tension via this block. 

Secure table top 

 


